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Note :- Attempt all questions.

(i) T¥ AR 8 W 17 4% & wAt & wriafrw Arwea Rumuh
Internal options are givea in Question No. 8 to 17.

fodw (3n) . v FE | FEw v B e A7 gus g
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Instruction (A) - Question No. | is an objective type
question. It has three sections. In Section (A ) Multipie
choice questions, in Section (B) Fill in the blanks and in
Section (C) Match the following are given. Each Section
has 5 questions. Each question carries | mark.
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Section - (A)
(Multiple Choice Questions)
T W R g fefe [1x5=5|
Choose and write the correct option:
(i) graade
(30 s i
@ WS N
) Whes i
@) R aHy I
Fragrance is-

(a) Aliphatic compound
(b) Alicyclic compound
(c) Aromatic compound
(d) None of these

(i) AR
(3 T @ Teifesta
Alkyne is-
(a) Ethanc (b) Acetylenc
(c) Ethylenc (d) All of the above
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(iii) WZT &7 Py &
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Pea plant is-
(a) Annual herb (b) Biennial herb
(c) Perennial herb (d) All of the above

(iv) myRiafrT & araam Fed I8 6 92rd a4 k-
(30) JArsdhamwy
@ IdEay
®) (3 IR (@) A
@) (31 3 (=) A

The Kreb’s cycle occurs simultaneously with
glycolysis-

(a) Aecrobic respiration

(b) Anaerobic respiration

(c) Both(a)and(b)

(d) Not both (a) and (b)

(v) FENG T 1 Tl e 1 e -

IR IGELS @ weh

@ wE @ IgFaaft

Plant of Cruciferac family for economic importance
is-

(a) Tumip (b) Radish

(c) Mustard (d) All of the above

L- - 1.0.
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Section - (3)
(Fill in the blanks)

mmﬁﬁﬁm | 1x5=5]|
Fill in the blanks:

(i) FEAmHEHEEHR__ Faad

Units of genetic characters are called .

(i) Nifhmwqam &

Full name of Nif Genesis .

(i) aferat & Sfofar e 0 Tags F AT F e
LI ' h

——

The hormone that causes senescence in leaves and

autumn is :

(iv) W ) aTREE dhvafaer . wEa
The beneficial expression of hybridization is

(v) Frdtae d fret it ot o= Wt
Anacrobic respiration produces energy ~~ K.Cal.
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Section - (C)
(Maitch the following)

TE-1 T8 e [1x5=5]

®Y & =T

(i) = A (3 vfth w5

(i) Raf=B @ Qb

(iii) faaf=a @ @

(iv) wqreeh @ I AYES |

(v) @ @ s

Match the following:
Column ‘A’ Column ‘B’

(i) Vitamin A (a) Regini crop

(i) Vitamin B (b) Beri-Beri discase

(m) Vitamin C (c) Sarang

(iv) Honey bee (d) Fat soluble

(v) Lac (¢)  Ascorbic acid

L-24 .
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T @) T w5 & 7 W Afa TG I w9 h R
WH W 2 3 Nrafrq ) aw & Ffowan we2-dim 30 =
t

Instruction (B) : Question No. 2 to 7 are very short
answer type questions. Each question carries 2 marks.
Maximum word-limit of answer is 30 words.

(37 T I )

(Very Short Answer Type Questions)
s R A 2]
What is structural formula?
qos R st 2|
What is Indicators?
u ga A firea 7 8t &) 39 F1 gt 310 AR 21
The radius of a circle is 7 cm. Find the area of the circle.
avoT 1 94 fl Fd & (2
What is Selection?
grafawes wa &) 12|
What is Allele?
facray o1 & Y 3 A & am ffag [1+1=2]

write name of 8ny IWo insects of order Diptera

24| | WEHINMIRNINE  oscoe
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Instruction (C) : Question No. 8 to 12 are short answer
'YPe questions. Each question carrics 4 marks
Maximum word limit of answer i 75 words

GRESULE L)
(Short Answer Type Questions)

o=t areft & W wrer I AR

an

0-10

10-20

20-30

30-40

40-50

i

5

9

12

Find the arithmetic mean from the following table:

Class

0-10

10-20

20-30

30-40

40-50 !

Frequency

7

9

12

8

4

<L

OR

Frey wroft & mifeaset & oY fifire.

Y (@A)

10

12

14 | 16

13

20 | S

14
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(8)
e . .
Find the median from the following table:

(Age (inyears) [ 10 [ 12| 14| 16 | 18 | 20
No.of | 7 [13,20[ 5 | 8 |5
students J
W9 T EYSe ik yaee 3 A 90 fafay [1x4=4]
Write any four differences between photosynthesis and
respiration.
arwat
OR
@ IR faroas F i = s foafam
Wnite any four differences between respiration and
fermentation.
W10 W & W & 79 g7 fofan @ g st =g . [2+2=4]

Write floral formula of Pea flower and draw a floral

diagram. https://www.cgboardonline.com
et

OR
mtgwwgwqg%MQégwaﬁHm
Wnite Floral formula of Makoy’s (Solanum nigrum)
flower and draw a floral diagram

W11 SRINE T T IR A T v i P AR A Ry [xd=d]

engine and extemal combuystiog engine.
S L]
OR
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SR 3N v & @ AT 3 fofay
Write any foy diffi
and potential difty

erences between electiomotive force
erence

T2 %mﬁmﬁmﬁimm,,

=

T A

1010

10

e

-10 | 10-20 |
S ————— ]

15

20-30

L —

e —

30-40
25

40-50 |
15 |

Show the following data Ihmugh histogram

Wagﬁ (Rs)

0-10 [

10-20

[ 20-30

3040 |

[ 40-50

No. of
cmployees

5

10

e safarat € s &1 2ve-faw gro wefita fifaw

15

1

25

"y

OR

35

15

4]

50-60 | 60-70 |

s |

50-60

15 |

60-70 |

It

C

D

-

A (¥)

A
50

100

200

300

E

400

Show lhc income of the following people through a bar

E o

C [ o

E

200

|

300

400

|
|
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-14

PEY ®) : 7% g 13 @@ 14 Y 390 T 9@ v

W S 3 Irafe fy goe  FfowaT WA 150 w2 A

Instruction (D) : (uestion No. 13 and 14 are short
answer type questions. Each question carries 5 marks.
Maximum word limit of answer 1S 150 words.

(@Y I TF)
(Short Answer Type Questions)
o & sty 3 e & @é ot 3 forfarg
Write any five safety measures in using electricity.
k) L
OR

WY & g 9t 7por kg
Write any five properties of Light.

Frafafe anft & sgas 3 Hifvg

Fn 0-10 | 10-20 | 20-30 | 30-40
ATCARAT 2 10 8 7 3

Find the mode from the following table.

Class 0-10 | 10-20 | 20-30

 Frequency 2 10 8 | 7 3

ey
OR

| 1x5=5]

151
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(1)
ﬁﬂ%&um&mm&mmmaﬁm

o f

Find the mean deviation from the arithmetic mean in the

20-30

10 5 3

30-40_} 40-50

following table.
[ Class 0-10 | 10-20 | 20-30 | 3040 | 40-50
Frequency 2 | 7 10 5 3

e (3) : T w15 17 g% A 3w T & Q@
W 6 3id FHrafed ¥ I A sfaean ne-dinr 250 g A

Instruction (E) : Question No. 15 to 17 are long answer
type questions. Each question carries 6 marks. Maximum
word limit of answer is 250 words.

@ Iala v )
(Long Answer Type Questions)

w15 ArEe § faraw A AT smes mamifea e (402
wTge Wt A A anfkes wew forfag

Make a labelled diagram of the different stages of the
life<cycle of Honey-bee and write any two economic
importance.

L L)
OR

e 1RINRINN ose rre.
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(12)
mﬁztmwwrﬁm:mﬁmha o~
I 4T FE 2 e O (A

Make a labelleqd dragram of the different stages of the
Iife-cycle of |ac insect and WTTte any two economic
Imponance

Y16 TR Fa b mH e R FA R IER T (1434,

fofam =$|
What 1s lens? How to identify it and wnite any two uses
kL L1
) OR
T = R w5 & e wer WTT T YR S aw |
fafag
What is heat engine? Write briefly 1ts main parts and
types.
T¥-17  Ufed teiAe & w3 35w fofan [1x6=6|
Write any six uses of Ethyl Alcohol
AT
OR

R & St 8 39 fafay

Wnite any six uses of Glucose
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